

**AGENDA ITEM**  
February 24, 2026

**Subject:** Animal Shelter Culvert Replacement

**Department:** Police

Bids were solicited for the animal shelter culvert replacement and road lowering project with the results below:

<b>COMPANY</b>	<b>BASE BID</b>
M & M Utilities	\$419,812.00
JKS Construction Inc	\$493,119.25
TB Dozing & Excavation LLC	\$557,977.00
Sprouls Construction, Inc	\$561,095.00

**RESOLUTION NO. 1908**

**A RESOLUTION OF THE CITY OF NEVADA, MISSOURI, ACCEPTING THE BID AND AUTHORIZING PAYMENT TO M & M UTILITIES, CHILLICOTHE, MISSOURI, FOR THE ANIMAL SHELTER CULVERT REPLACEMENT PROJECT**

**WHEREAS**, bids were solicited for the Animal Shelter Culvert Replacement Project; and

**WHEREAS**, The City of Nevada wishes to accept the lowest and best bid from M & M Utilities of Chillicothe, Missouri in the amount of \$419,812.00; and

**WHEREAS**, the City Manager or their designee is hereby directed to execute any and all documents related to said bid.

**NOW, THEREFORE, BE IT RESOLVED** that the City Council of the City of Nevada, Missouri, accepts the bid and authorizes payment to M & M Utilities, Chillicothe, Missouri, for the Animal Shelter culvert replacement project.

**PASSED, APPROVED AND ADOPTED**, by the City Council of the City of Nevada, Missouri on this 24th day of February, 2026.

(seal)

\_\_\_\_\_  
CAROL BRANHAM, MAYOR

ATTEST:

\_\_\_\_\_  
CYNTHIA DYE, CITY CLERK



February 9, 2026

Mr. Gary Edwards, City Manager  
City of Nevada  
110 S. Ash Street  
Nevada, MO 64772

Re: Industrial Parkway Culvert Replacement  
Nevada, Missouri

Dear Mr. Edwards:

We have reviewed the five (5) bids received February 5, 2026, for the construction of the referenced project, and subsequently prepared a tabulation of those bids. The total on the enclosed Tabulation of Bids show the amounts of the submitted bids.

It is the recommendation of this office that the City award the contract to M&M Utilities LLC This recommendation is predicated upon the following:

1. M&M Utilities LLC is the low, responsive, responsible bidder with a total bid in the amount of \$419,812.00 which calculates 21.4% lower than the Engineer's Estimate of \$534,000.00.
2. M&M Utilities' reputation and experience record indicate that they are capable of performing this type of construction.
3. The Missouri Department of Transportation also recognizes M&M Utilities LLC as an approved contractor.
4. A recent conversation with Travis Burton, the Contractor, suggests that they are comfortable with the submitted bid.

If the City concurs with this recommendation, please sign each copy of this letter below where indicated and return one copy to this office. Upon receipt of your response, we will request signed contract documents from M&M Utilities LLC.

If you have any questions, please advise.

Sincerely,

ALLGEIER, MARTIN and ASSOCIATES, INC.

Blake Watson, P.E.  
Project Engineer

ACCEPTED:  
CITY OF NEVADA, MO

\_\_\_\_\_  
Carol Branham, Mayor



ALLGEIER, MARTIN and ASSOCIATES, INC.  
 Consulting Engineers

**Tabulation of Bids**  
 Branch Offices: Kansas City, Rolla, Springfield, Tulsa & Bentonville  
 Tabulation of Bids

**Project:** Industrial Parkway Culvert Replacement  
**Location:** Nevada, Missouri  
**Bid Date:** Thursday, February 5, 2026  
**Engineers Estimate:** \$534,003.00  
**Engineers:** Blake Watson, P.E.

**M & M Utilities L.L.C**  
 Chillicothe, MO

**JKS Construction, Inc.**  
 Girard, KS

**TB Dozing & Excavation, LLC**  
 Jamestown, MO

**Bid Items: – Industrial Parkway Culvert Replacement**

Item No.	Roadway Items Description	Unit	Quantity	M & M Utilities L.L.C		JKS Construction, Inc.		TB Dozing & Excavation, LLC	
				Unit Price	Extended Total	Unit Price	Extended Total	Unit Price	Extended Total
201-30.00	CLEARING AND GRUBBING	ACRES	0.55	\$ 2,000.00	\$ 1,100.00	\$ 7,800.00	\$ 4,290.00	\$ 18,000.00	\$ 9,900.00
202-20.10	REMOVAL OF IMPROVEMENTS	LUMP SUM	1	\$ 22,000.00	\$ 22,000.00	\$ 17,000.00	\$ 17,000.00	\$ 18,000.00	\$ 18,000.00
203-50.00	UNCLASSIFIED EXCAVATION	CU. YDS.	2,930	\$ 11.00	\$ 32,230.00	\$ 25.00	\$ 73,250.00	\$ 17.00	\$ 49,810.00
203-55.00	EMBANKMENT IN PLACE	CU. YDS.	50	\$ 18.00	\$ 900.00	\$ 100.00	\$ 5,000.00	\$ 250.00	\$ 12,500.00
203-70.75	COMPACTING IN CUT	STA.	6.8	\$ 400.00	\$ 2,720.00	\$ 375.00	\$ 2,550.00	\$ 875.00	\$ 5,950.00
205-10.10	MODIFIED SUBGRADE (GEOGRID)	SQ. YDS.	1730	\$ 5.00	\$ 8,650.00	\$ 4.00	\$ 6,920.00	\$ 5.50	\$ 9,515.00
207-10.00	LINEAR GRADING, CLASS 1	STA.	6.8	\$ 400.00	\$ 2,720.00	\$ 1,500.00	\$ 10,200.00	\$ 1,000.00	\$ 6,800.00
304-01.63	TYPE I AGGREGATE FOR BASE 6" THICK	SQ. YDS.	2255	\$ 10.00	\$ 22,550.00	\$ 16.00	\$ 36,080.00	\$ 28.00	\$ 63,140.00
401-12.09	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	TONS	600	\$ 175.00	\$ 105,000.00	\$ 112.00	\$ 67,200.00	\$ 150.00	\$ 90,000.00
407-10.05	TACK COAT	GAL.	174	\$ 8.00	\$ 1,392.00	\$ 2.75	\$ 478.50	\$ 10.00	\$ 1,740.00
502-11.08	CONCRETE COMMERCIAL DRIVEWAY, 8 IN. THICK	SQ. YDS.	475	\$ 124.00	\$ 58,900.00	\$ 82.00	\$ 38,950.00	\$ 155.00	\$ 73,625.00
609-10.53	STANDARD 2 FEET-0 INCH CONCRETE CURB & GUTTER	LIN. FT.	55	\$ 36.00	\$ 1,980.00	\$ 50.00	\$ 2,750.00	\$ 60.00	\$ 3,300.00
611-30.20	FURNISH TYPE 1 ROCK BLANKET	CU. YDS.	34	\$ 60.00	\$ 2,040.00	\$ 100.00	\$ 3,400.00	\$ 85.00	\$ 2,890.00
611-30.40	PLACING TYPE 1 ROCK BLANKET	CU. YDS.	34	\$ 50.00	\$ 1,700.00	\$ 40.00	\$ 1,360.00	\$ 50.00	\$ 1,700.00
616-10.05	CONSTRUCTION SIGNS	SQ. FT.	125	\$ 7.00	\$ 875.00	\$ 15.00	\$ 1,875.00	\$ 30.00	\$ 3,750.00
616-10.30	TYPE III MOVEABLE BARRICADE	EA.	8	\$ 150.00	\$ 1,200.00	\$ 225.00	\$ 1,800.00	\$ 500.00	\$ 4,000.00
616-10.47	TYPE III OBJECT MARKER	EA.	4	\$ 125.00	\$ 500.00	\$ 685.00	\$ 2,740.00	\$ 250.00	\$ 1,000.00
618-10.00	MOBILIZATION	LUMP SUM	1	\$ 26,000.00	\$ 26,000.00	\$ 38,580.00	\$ 38,580.00	\$ 30,000.00	\$ 30,000.00
624-01.03A	PERMANENT EROSION CONTROL GEOTEXTILE	SQ. YDS.	51	\$ 5.00	\$ 255.00	\$ 5.00	\$ 255.00	\$ 32.00	\$ 1,632.00
627-40.00	CONTRACTOR FURNISHED SURVEYING AND STAKING	LUMP SUM	1	\$ 6,500.00	\$ 6,500.00	\$ 7,000.00	\$ 7,000.00	\$ 7,000.00	\$ 7,000.00
725-04.18	18" PIPE GROUP C, CLASS III REINFORCED CONCRETE PIPE	LIN. FT.	150	\$ 75.00	\$ 11,250.00	\$ 75.00	\$ 11,250.00	\$ 140.00	\$ 21,000.00
732-08.18A	18" CLASS III REINFORCED CONCRETE FLARED END SECTION	EA.	6	\$ 850.00	\$ 5,100.00	\$ 900.00	\$ 5,400.00	\$ 1,500.00	\$ 9,000.00
802-50.06	MULCHING	ACRE	0.65	\$ 2,500.00	\$ 1,625.00	\$ 2,300.00	\$ 1,495.00	\$ 7,500.00	\$ 4,875.00
805-10.00A	SEEDING	ACRE	0.65	\$ 2,500.00	\$ 1,625.00	\$ 2,375.00	\$ 1,543.75	\$ 5,000.00	\$ 3,250.00
806-99.01	EROSION CONTROL	LS	1	\$ 1,000.00	\$ 1,000.00	\$ 3,000.00	\$ 3,000.00	\$ 3,600.00	\$ 3,600.00
<b>Item No.</b>	<b>Bridge Items</b>								
703-99.01	TRIPLE 6' SPAN X 4' TALL REINFORCED CONCRETE BOX CULVERT	LS	1	\$ 100,000.00	\$ 100,000.00	\$ 148,752.00	\$ 148,752.00	\$ 120,000.00	\$ 120,000.00
	<b>CONCRETE BOX CULVERT</b>				<b>\$ 419,812.00</b>		<b>\$ 493,119.25</b>		<b>\$ 557,977.00</b>

Sprouls Construction, Inc.  
Lamar, MO

Elements Const. Concepts  
Joplin, MO

**Bid Items: – Industrial Parkway Culvert Replacement**

Item No.	Roadway Items Description	Unit	Quantity	Extended		Extended	
				Unit Price	Total	Unit Price	Total
201-30.00	CLEARING AND GRUBBING	ACRES	0.55	\$ 5,000.00	\$ 2,750.00	<b>NOT READ</b>	
202-20.10	REMOVAL OF IMPROVEMENTS	LUMP SUM	1	\$ 10,000.00	\$ 10,000.00		\$ -
203-50.00	UNCLASSIFIED EXCAVATION	CU. YDS.	2,930	\$ 25.00	\$ 73,250.00		\$ -
203-55.00	EMBANKMENT IN PLACE	CU. YDS.	50	\$ 60.00	\$ 3,000.00		\$ -
203-70.75	COMPACTING IN CUT	STA.	6.8	\$ 800.00	\$ 5,440.00		\$ -
205-10.10	MODIFIED SUBGRADE (GEOGRID)	SQ. YDS.	1730	\$ 15.00	\$ 25,950.00		\$ -
207-10.00	LINEAR GRADING, CLASS 1	STA.	6.8	\$ 1,500.00	\$ 10,200.00		\$ -
304-01.63	TYPE I AGGREGATE FOR BASE 6" THICK	SQ. YDS.	2255	\$ 18.00	\$ 40,590.00		\$ -
401-12.09	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	TONS	600	\$ 122.00	\$ 73,200.00		\$ -
407-10.05	TACK COAT	GAL.	174	\$ 3.00	\$ 522.00		\$ -
502-11.08	CONCRETE COMMERCIAL DRIVEWAY, 8 IN. THICK	SQ. YDS.	475	\$ 140.00	\$ 66,500.00		\$ -
609-10.53	STANDARD 2 FEET-0 INCH CONCRETE CURB & GUTTER	LIN. FT.	55	\$ 50.00	\$ 2,750.00		\$ -
611-30.20	FURNISH TYPE 1 ROCK BLANKET	CU. YDS.	34	\$ 45.00	\$ 1,530.00		\$ -
611-30.40	PLACING TYPE 1 ROCK BLANKET	CU. YDS.	34	\$ 45.00	\$ 1,530.00		\$ -
616-10.05	CONSTRUCTION SIGNS	SQ. FT.	125	\$ 15.00	\$ 1,875.00		\$ -
616-10.30	TYPE III MOVEABLE BARRICADE	EA.	8	\$ 200.00	\$ 1,600.00		\$ -
616-10.47	TYPE III OBJECT MARKER	EA.	4	\$ 600.00	\$ 2,400.00		\$ -
618-10.00	MOBILIZATION	LUMP SUM	1	\$ 35,000.00	\$ 35,000.00		\$ -
624-01.03A	PERMANENT EROSION CONTROL GEOTEXTILE	SQ. YDS.	51	\$ 8.00	\$ 408.00		\$ -
627-40.00	CONTRACTOR FURNISHED SURVEYING AND STAKING	LUMP SUM	1	\$ 10,000.00	\$ 10,000.00		\$ -
725-04.18	18" PIPE GROUP C, CLASS III REINFORCED CONCRETE PIPE	LIN. FT.	150	\$ 72.00	\$ 10,800.00		\$ -
732-08.18A	18" CLASS III REINFORCED CONCRETE FLARED END SECTION	EA.	6	\$ 1,100.00	\$ 6,600.00		\$ -
802-50.06	MULCHING	ACRE	0.65	\$ 4,000.00	\$ 2,600.00		\$ -
805-10.00A	SEEDING	ACRE	0.65	\$ 4,000.00	\$ 2,600.00		\$ -
806-99.01	EROSION CONTROL	LS	1	\$ 7,500.00	\$ 7,500.00		\$ -
							\$ -
							\$ -
<b>Item No.</b>	Bridge Items						\$ -
703-99.01	TRIPLE 6' SPAN X 4' TALL REINFORCED CONCRETE BOX CULVERT	LS	1	\$ 162,500.00	\$ 162,500.00		\$ -
	<b>CONCRETE BOX CULVERT</b>				<b>\$ 561,095.00</b>		<b>\$ -</b>

This is to certify that at 10:30 am on February 5, 2026 at the City of Nevada MO, the bids were publicly opened, read aloud, checked, and the above totals are correct as to the additions.

By  \_\_\_\_\_  
Blake Watson, P.E.